
01 02

Base plate/Bracket 
Thickness  

 （mm）

1.8
1.8

Base plate/Bracket 
Thickness  

 （mm）

1.2
1.2

1.8
1.8

1.8
1.8



03 04

NYLON

Base plate/Bracket 
Thickness  

 （mm）

1.8
1.8

1.8
1.8

Base plate/Bracket 
Thickness  

 （mm）

1.8
1.8

1.8
1.8



05 06

Base plate/Bracket 
Thickness  
 （mm）

1.2
1.2

1.2
1.2

1.5
1.5

1.5
1.5

1.5
1.5

1.8
1.8

2
1.8

2
1.8

Base plate/Bracket 
Thickness  
 （mm）

1.2
1.2

1.2
1.2

1.5
1.5

1.5
1.5



07 08

Base plate/Bracket 
Thickness  

 （mm）

2
1.5

2
1.5

2
2

Base plate/Bracket 
Thickness  

 （mm）

1.8
1.8

3
2.3

1.8
1.8



1.5" 40x20 6.5x9.3 61 25

2"

2.5"

50x24 72 35

65x32 90 908.5x11.5

/

/

/

45x30

74x45

60x43

93x64

M10x25

53x3470x51 8.3x11.2 M10x25

M10x25

09 10

Base plate/Bracket 
Thickness  

 （mm）

1.8
1.8

3
2.3

1.8
1.8

1.8
1.8

3
2.3

1.8
1.8

Base plate/Bracket 
Thickness  
 （mm）



11 12

1.2
1.2

Base plate/Bracket 
Thickness  

 （mm）

2
1.8

2

2

2

1.2
1.2

Base plate/Bracket 
Thickness  

 （mm）

2
1.8

2

2

2

1.8

1.8

1.8

1.8

1.8

1.8



2" 50x17 M10x15 71 30

3" 75x21 91 35

65x65

65x65

52x52 6.5x12

6.5x12 M10x15

M10

M1052x52

13 14

Base plate/Bracket 
Thickness  

 （mm）

1.2
1.2

1.8
1.8

2.5
2.5

Base plate/Bracket 
Thickness  

 （mm）



15 16

Base plate/Bracket 
Thickness  

 （mm）

1.8
1.8

2.5
2.5

Base plate/Bracket 
Thickness  

 （mm）

1.8
1.8

2.5
2.5



17 18

Base plate/Bracket 
Thickness  
 （mm）

1.8
1.8

1.8
1.8

2
2

2
2

2
2

Base plate/Bracket 
Thickness  
 （mm）

1.2
1.2

1.2
1.2

1.5
1.5

2
1.8

2
1.8

1.2
1.2



19 20

Base plate/Bracket 
Thickness  
 （mm）

1.2
1.2

1.2
1.2

1.2
1.2

1.5
1.5

2
1.8

2
1.8

Base plate/Bracket 
Thickness  
 （mm）

1.2
1.2

1.2
1.2

1.2
1.2

1.5
1.5

2
1.8

2
1.8



21 22

Base plate/Bracket 
Thickness  
 （mm）

1.2
1.2

1.2
1.2

1.2
1.2

1.5
1.5

2
1.8

2
1.8

Base plate/Bracket 
Thickness  
 （mm）

1.5
1.5

2
1.8

2
1.8



23 24



NYLON

27 28

Base plate/Bracket 
Thickness  
 （mm）

3
2.3

3
2.3

3
2.3

Base plate/Bracket 
Thickness  
 （mm）

3.5
2.5

3.5
2.5

3.5
2.5



25 26



NYLON

29 30

20 SERIES:HIGH TEMPERATURE WHEEL MEDIUM DUTY CASTER

Base plate/Bracket 
Thickness  
 （mm）

3
2.3

3
2.3

3
2.3

Base plate/Bracket 
Thickness  
 （mm）

3
2.3

3
2.3

3
2.3



31 32

33 SERIES:PLASTIC BRACKET MEDICAL CASTER MEC SERIE

33-S-TPR 33-STB-TPR 33-T-TPR 33-TB-TPR

33-ST-TPR 33-STTB-TPR 33-H-TPR 33-HTB-TPR

M12x25

M12x25

M12x25

1/2"

1/2"

1/2"

22x45

22x45

22x45

120

149

177.5

3

3

3

Base plate/Bracket 
Thickness  
 （mm）

3.5
2.5

3.5
2.5

3.5
2.5

90

120

135

Base plate thickness 
 （mm）

Base plate/Bracket 
Thickness  
 （mm）

Base plate thickness 
 （mm）



33 34

Base plate thickness 
 （mm）

Base plate thickness 
 （mm）

3

3

3

 （mm）
Base plate thickness 

 （mm）

3

3

3



35 36

Base plate thickness 
 （mm）

Base plate thickness 
 （mm）

3

3

3

Base plate thickness 
 （mm）

Base plate thickness 
 （mm）

3



39 40

Base plate/Bracket 
Thickness  
 （mm）

4
2.5

4
2.5

4
2.5

Base plate/Bracket 
Thickness  
 （mm）

Base plate/Bracket 
Thickness  
 （mm）

Base plate/Bracket 
Thickness  
 （mm）

2
2



37 38

Base plate thickness 
 （mm）

Base plate thickness 
 （mm）

3

3

3

Base plate thickness 
 （mm）

Base plate thickness 
 （mm）

3

3

Base plate thickness 
 （mm）

Base plate thickness 
 （mm）

3.5

3.5

3.5



41-S-PU 41-R-PU 41-STB-PU

43 44

Base plate/Bracket 
Thickness  
 （mm）

5.5
5.5

Base plate/Bracket 
Thickness  
 （mm）

5.5
5.5

5.5
5.5

5.5
5.5

Base plate/Bracket 
Thickness  
 （mm）

5
5

Base plate/Bracket 
Thickness  
 （mm）

5
5

5
5

5
5

5
5



41 42

Base plate/Bracket 
Thickness  
 （mm）

5.5
5.5

Base plate/Bracket 
Thickness  
 （mm）

5.5
5.5

5.5
5.5

5.5
5.5

Base plate/Bracket 
Thickness  
 （mm）

5.5
5.5

Base plate/Bracket 
Thickness  
 （mm）

5.5
5.5

5.5
5.5

5.5
5.5



41/42/43S SERIES:OPTIONAL WHEELS 41/42/43S SERIES:OPTIONAL WHEELS 

45 46



Base plate/Bracket 
Thickness  
 （mm）

5.5
5.5

Base plate/Bracket 
Thickness  
 （mm）

5.5
5.5

5.5
5.5

5.5
5.5

Base plate/Bracket 
Thickness  
 （mm）

3
2.3

3
2.3

3
2.3

Base plate/Bracket 
Thickness  
 （mm）

Base plate/Bracket 
Thickness  
 （mm）

10
10

10
10

10
10

10
10



61 SERIES:TPR SHOPPING CART CASTER/PU SHOPPING CART CASTER

61-T-TPR 61-H-TPR 61-T-PU

M12x15

M12x15

M12x15

M12

M12

M12

100

130

150

30

40

55

M12x15

M12x15

M12 128

128

110

110

100x32

125x32

/

/

/

/

/

/ M12

/

/

75x22

100x22

125x22

/

/

/

/

/

/

/ / /

/

/

/

61-PU

61-TPR

62 SERIES:TPR SHOPPING CART CASTER/PU SHOPPING CART CASTER

62-T-TPR 63-T-TPR

M12x15

M12x15

M12x15

M12

M12

M12

100

130

150

30

40

55

75x22

100x22

125x22

/

/

/

/

/

/

/ / /

/

/

/

62-TPR

M12x15

M12x15

M12 135

155

40

60

100x22

125x22

/

/

/

/

/

/ M12

/

/

61-TPR



Base plate/Bracket 
Thickness  
 （mm）

Base plate/Bracket 
Thickness  
 （mm）

3
2.5

3
2.5

3
2.5

4
3

4
3

Base plate/Bracket 
Thickness  
 （mm）

Base plate/Bracket 
Thickness  
 （mm）

3
2.5

3
2.5

3
2.5

4
3

4
3



Base plate/Bracket 
Thickness  
 （mm）

Base plate/Bracket 
Thickness  
 （mm）

4
2.5

4
3

4
3.5

Base plate/Bracket 
Thickness  
 （mm）

Base plate/Bracket 
Thickness  
 （mm）

5.5
5.5

Base plate/Bracket 
Thickness  
 （mm）

Base plate/Bracket 
Thickness  
 （mm）

5.5
5.5

5.5
5.5



Base plate/Bracket 
Thickness  
 （mm）

Base plate/Bracket 
Thickness  
 （mm）

Base plate/Bracket 
Thickness  
 （mm）

Base plate/Bracket 
Thickness  
 （mm）

8
8

8
8

8
8

8
8

8
8

8
8

8
8

8
8



Base plate/Bracket 
Thickness  
 （mm）

Base plate/Bracket 
Thickness  
 （mm）

Base plate/Bracket 
Thickness  
 （mm）

Base plate/Bracket 
Thickness  
 （mm）

3
3

3
3

1.8
1.8

2
2

2
2

3
3

3
3



Base plate/Bracket 
Thickness  
 （mm）

Base plate/Bracket 
Thickness  
 （mm）

2.3
2

2.3
2.3

3
3

3.5

3



Base plate/Bracket 
Thickness  
 （mm）

Base plate/Bracket 
Thickness  
 （mm）

5.5

5.5
5.5

5.5

5.5
5.5

Thickness  
 （mm）
Thickness  
 （mm）

5.5

5.5
5.5

5.5

5.5
5.5

Base plate/Bracket 



Base plate/Bracket 
Thickness  
 （mm）

Base plate/Bracket 
Thickness  
 （mm）

3
2.5

3
2.5

3
2.5

4
3

4
3

Thickness  
 （mm）

Base plate/Bracket 
Thickness  
 （mm）

1.8
1.8

2
2

2
2

3
3

3
3

2
2



Thickness  
 （mm）
Thickness  
 （mm）

3
2.3

3
2.3

3
2.3

Base plate/Bracket 



Thickness  
 （mm）
Thickness  
 （mm）

5.5

Base plate/Bracket Base plate/Bracket 

5.5

5.5
5.5



69 

Product Name 

4WF-150PP 

4WF-200PP 

4-WHEEL FOLDABLE HAND CART

Max load Platform height Platform size Wheel dia Folding size Unfolding size Weight 

150KG 

200KG 

183MM 

183MM 

653X415MM 100MM 653X415X85MM 653X415X920MM 7.15KG 

653X415MM 100MM 653X415X85MM 653X415X920MM 7.3KG 

Product Name 

2WF-AL70E 

2WF-ST60E 

2-WHEEL FOLDABLE TRANSPORT TRUCK

Shovel 
Folding size Unfolding size 

material 
Max load Shove size Wheel dia 

Aluminium 70KG 395X281MM 125MM 635X395X52MM 1000X395X415MM 

Steel 60KG 395X281MM 125MM 635X395X52MM 1000X395X415MM 

6-WHEEL FOLDABLE HAND CART

Weight 

3.2KG 

3.3KG 

Product Name 
Max load Platform height Platform size Wheel dia Folding size Unfolding size Unfolding size Weight 

TPHC-100 100KG 100MM 563/717X355MM S0MM 563X355X100MM 717X860X355MM 1240X680X355MM 4.4KG 

70 



FL-A2



71 

CRANKSHAFT MECHANISM SWIVEL CASTER(3 YEARS WARRANTY) 

PROVIDING CUSTOMIZABLE CRANKSHAFT WHEEL DEVICES 

I AGV-07I I AGV-08I I AGV-09I 

IAGV-10I IAGV-11I IAGV-12I 

AGV DRIVING WHEEL(3 YEARS WARRANTY) 

WE CAN CUSTOMIZE WHEELS WITH A DIAMETER OF 950MM 

PU PU 1 RB PU 2 

PU 3 PU 4 PU 5 PU 6 

PU 7 PU 8 PU 9 PU 10 

PU 11 PU 12 PU 13 PU 14 

72 



SIZE



75 

MOLD ON RUBBER CONTAINER CASTER 

ITEM NO 00 l�©�II 
diameterxwidth plate size 

(mm) (mm) 

16" 413x151 I 

22" 541x160 I 

-

I�©�l�©�JI 
bore hole spacing Hole Size(mm) 

(mm) 

I I 

I 

@9 � 
Axle Size(mm) Bore Hole Size(mm) Stem Size(mm) 

I 

loading height 
(mm) 

536 

681 

load capacity 
(KG) 

6000 

9000 

CASTER QUALITY ASSURANCE:CERTIFICATION 

IN�! 
CERTIFICATE OF REGISTRATION 

e.n./ic:.teR11916lr.t""'NrtA.!221!!11eRa 

Thilklte>COll1ifytluil 

Zhongshan Qianyue Caster Co.,Ltd 

Rt!�i!.temdaddmu· N10.11.�-...aoag..ll.aobnl-,.,.Z-.;wno,,, 

Aud�acklrn1 No.11,"°"""9�g.l(l.olonT,,_,Zlior,,;ls.l\1nCity 

TMen�ir11rwnemal man�t r.ystam Ila bl!ol!n � �y INV Cen.. and lcund tu 
........ 

GB/T24001-2016/IS014001 :2015 

Forthescopeol 

OrigNIO.u, 2022.IOollll 

1,sueo11e· �022..0"11 

Expll)'OeW202�1D 

mACCRCOlffD 

CERTIFICATE 
CERmlCA1E OF 1ECIINICALl'ISPECIDN 

11le COfflllll"l.-daiww ••-aeci b)'ITDOl 
ec:-,p..,."->• :Xbotwth1UtQl.uq-CN'91'Co •• Llod 

C.-0-,,-

� .... � :Q'l',10,Q"!'.-O.QY.:,O,Q'l'-4Q.Q'l'-II() 

�- ... -�
..... � ... DM� 
.., ....... Dole 
.. -... �9 

[L,.,. .... 
--4--...,� .... - ___ ,_ -a -__________ .... _____ .. "'_"' 
--.. -----�-_ .. _,. ___ _
___ ...._,_._.,..,_,._,_,. ... __. __ ........ .. --·--·--.... ___ ., ___ .. _

--

RoHS TEST Report 

Test Report 

� l"""'9,h,onQan1uaCal1.,CO..tTD 

n.�--.,in-...bmilladallll-.iiliadin-alll:m-n 
s-c,i.-.., LUXJJrymadical muteea&ter 

OC'Tir-n._.....,.,,..,, 

s.rola�Dn: 

CQ<IQ.us«>N: 

Sllpt.2fl,20211a0dlll.20ll 

'""'_,.,_,., ... J<ll)al1el 
?'io:tU11'B .... rlUIP91 

TESfEOSAMPI.E:S- TEST ITEM 

1 �ledesl(slSl!h!selecRdpartsHt�esledbfd!rl'Mlh 
Ille RoHS2.0 [)r......,21)1Ullllo'EU.lnw!• ■�-
1EUIXIIMIM alNl�--jEU)21lll!21m­

-Lmd,c..n..n,-..,..-o.r-..m,-
---El� 

-l)i.(�fp,tt,.-...{DEK'��� 

CFL CERTIFICATION CENTER 

CERTIFICATION OF QUALTTY MANAGEMEl'ff SYSTEM 

Regima1ion No: 065120224l2ROM 

Zhongshan Qianyuc Caster Co., Ltd. 

�Acl<h:,,,, '°""'llnd...rri;al7.JJMl..,.Shtd.JiJ<IRsYdlll'>IMT""'� 
C'll)'.O�Pnw,ncd2S,11J.l'.ILC. 

OITiceAddrftl, N�.ll Loli1R.»JJ�Yi..lCO<:>baT.,..�C'ity. 
O..,piur,�l',,,.,...,..!?lt1S.Plt.C'. 

Cca�llu •ltll 11\e reQ�lreae111, or 

GB/T19001-2008 idt ISO 9001, 2008 

The scope or ccrtifie1.1ioa cowers: 

CUIOl'Producti0t1�S�b 

.... �-- I ... >-1.....,,.._ I •w.-..i-- ! 
n...-........---1 ... r .... .-r.ao_ooo,........,r..-... �..-•� 

ti.ce(11......-, :,0::-1:011 0..o(£>.,i,), .!lll$.l�•IU 

_,..,.,._,_,.WW)olaA>O ...... "-,._ ... .__, _ _..,,..�. 
'•-1•m•1 •• , ..... n• "l••' .,, , ... .a,., ,, .. ,.._ ., .... 11.1,u 

MACHINERY DIRECTIVE 

A11FSTATION OF CONFORMDY 
l<Ki....-,.of1hoc......,.....,._1beL>,o-i-i-npo-<,...,1.,,c1_.,.._tM.,. 

c ...... ond...,c_...,. 

i-.,4JflCWachn..,-Dh!o::-An--,\Wh,u-1allle1>_..,.,_no,D..._� 
�Nmne ·Di......,-.:.....,,..c ...... c..u• 

..........,, ...,_dJM0<i,..11'1)-"p" Qf•>0.Q'r-a,).Q1'-.Q'r..o.Q1'•11Q 

Cc.tk,,i,..:,....t­
...... _,_� 
b_pn,-n.. --
--

----.---.. -- -·-----..------�----·------.... ���4=�-::.�-=-:;..-":-:c;.c..:..-=.-
:.:

.--:-
.;., 
__ =-�::--_-�-=--

___ _...__..., ...... ___ ""'°IC ....... •---..... 
:::::::-.-:.�--=-�=--

tl:-ill•i•(".....,_ .. _____ _ 

,_ .... ___ 

---------... --�-----·-----
___ , ___ ,. __ � ... ----..... -
� 0CTT�r�1��;;;-:=:•-

--•-•lltG•• _, .. IIIUM1 ■,._ 
----· ------

76 


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41

